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(a) Write the number 3840 in words. 

Answer ____________________________________________________________

___________________________________________________________________ 

(b) Write the number five thousand and twelve in figures. 

Answer _________________________________________ 

(c) What is the value of the digit 4 in the number 8462? 

Answer _________________________________________ 

(d) Write the number 2684 correct to the nearest 1000. 

Answer _________________________________________ 

(b) Write down two numbers from the list that have a difference of 21. 

___________________________________________________________________ 

Answer _____________ and _____________ 

(c) Write down two numbers from the list that are multiples of 8. 

___________________________________________________________________ 

Answer _____________ and _____________ 

Here is a list of numbers. 

28 37 40 49 56 63 

(a) Write down two numbers from the list that add up to 100. 

___________________________________________________________________ 

Answer _____________ and _____________ 

Q2. 

Non-Calculator 

Q1. 

(1) 

(1) 

(1)
(Total 3 marks) 

(1) 

(1) 

(1) 

(1) 
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(b) Which number is 12 less than one of the other numbers? 

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

(c) Which number is half of one of the other numbers? 

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

(d) Which number is three times one of the other numbers? 

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

(e) Work out 500 − 358 

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

Here are some numbers. 

13 14 15 17 31 34 35 42 43 49 

(a) Which two of the numbers add up to 29? 

___________________________________________________________________

___________________________________________________________________ 

Answer _____________ and _____________ 

(2)
(Total 6 marks) 

(1) 

(1) 

(1) 

(1) 
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(b) 945 ÷ 15 

(c) 489 − (15 × 14) 
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(e) Which number is a square number? 

Answer _________________________________________ 

Answer _________________________________________ 

Answer _________________________________________ 

Use a calculator to work out each of the following. 

(a) 206 × 13 

Answer _________________________________________ 

(1)
(Total 5 marks) 

(1) 

(1) 

(1)
(Total 3 marks) 

Calculator 
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